Model odpowiedzi i schemat oceniania — Arkusz dla 0sob niestyszqcych

Egzamin maturalny z jezyka angielskiego

MODEL ODPOWIEDZI I SCHEMAT OCENIANIA

ARKUSZ DLA NIESLYSZACYCH

Zadanie 1. (6 pkt)
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Zadanie 3. (8 pkt)

Przyktadowe odpowiedzi:

1. Ben Nevis is 1,342 metres high.
2. Many people visit Loch Ness because they want to see the Loch Ness monster.

3. The bagpipes are a traditional Scottish musical instrument.
4. The last battle between the English and the Scots was in 1746.

Zadanie 4. (5 pkt)
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Zadanie 6. (7 pkt)
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Zadanie 7. (12 pkt)

Przyktadowe odpowiedzi:

1. Ican see four young girls.

SARRANE el N

Zadanie 8. (5 pkt)

They are on the beach.
They are playing volleyball.

It’s warm and sunny.

They come from the USA/England/etc.
They are going to go to the disco.
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Zadanie 9. (5 pkt)
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Zadanie 10. (5 pkt)
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Zadanie 11. (5 pkt)
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Zadanie 12. (10 pkt)

Ocenia egzaminator zgodnie z kryteriami.

Zadanie 13 (20 pkt)

Ocenia egzaminator zgodnie z kryteriami.




